

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

ITEM # 3 – CURRENT MODEL YEAR, OR NEWER, FORD F550 REGULAR CAB WITH ENCLOSED UTILITY SERVICE BODY, AS SPECIFIED, OR EQUAL

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
3	Current Model Year, Or Newer, Ford F550 Regular Cab With Enclosed Utility Service Body, As Specified or Equal	20	EA	\$98,104.00	\$1,962,080.00		2026	180	3-year 36,000 bumper to bumper//5-year 100,000 powertrain	
OPTIONS										
3A	Upgrade chassis to Super Cab chassis, retaining 60" Cab to Axle, As Specified or Equal	20	EA	\$1,800.00	\$36,000.00					
3B	Upgrade Chassis to Crew Cab Chassis, Retaining 60" Cab to Axle, As Specified or Equal	20	EA	\$3,800.00	\$76,000.00					
3C	Upgrade to Regular Cab chassis with 84" Cab to Axle, As Specified or Equal	20	EA	\$300.00	\$6,000.00					

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid - MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
3D	Upgrade to Super Cab chassis with 84" Cab to Axle, As Specified or Equal	20	EA	\$300.00	\$6,000.00					
3E	Upgrade to Crew Cab chassis with 84" Cab to Axle, As Specified or Equal	20	EA	\$300.00	\$6,000.00					
3F	Medium Height Enclosed Body Upgrade, As Specified or Equal	20	EA	\$492.00	\$9,840.00					
3G	High Height Enclosed Body Upgrade, As Specified or Equal	20	EA	\$977.00	\$19,540.00					
3H	11 Foot Low Height Enclosed Body Upgrade For Use With 84" CA Chassis, As Specified or Equal	20	EA	\$1,100.00	\$22,000.00					

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
3I	11 Foot Medium Height Enclosed Body Upgrade For Use With 84" CA Chassis, As Specified or Equal	20	EA	\$1,693.00	\$33,860.00					
3J	11 Foot High Height Enclosed Body Upgrade for Use with 84" CA Chassis, As Specified or Equal	20	EA	\$2,170.00	\$43,400.00					
3K	Aluminum Body Upgrade from Steel, As Specified or Equal	20	EA	\$6,054.00	\$121,080.00					
3L	Medium Height Enclosed Body Upgrade, As Specified or Equal	20	EA	\$6,600.00	\$132,000.00					
3M	High Height Enclosed Body Upgrade, As Specified or Equal	20	EA	\$7,147.00	\$142,940.00					

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
3N	11' Medium Height Enclosed Body Upgrade for Use with 84" CA, As Specified or Equal	20	EA	\$9,954.00	\$199,080.00					
3O	11' High Height Enclosed Body Upgrade for Use with 84" CA, As Specified or Equal	20	EA	\$10,508.00	\$210,160.00					
3P	Side Access Doors in Roof, As Specified or Equal	20	EA	\$2,538.00	\$50,760.00					
3Q	Bottle Retainer Compartment, As Specified or Equal	20	EA	\$5,101.00	\$102,020.00					
3R	BASF DTE Liner AXALTA, As Specified or Equal	20	EA	\$1,260.00	\$25,200.00					
3S	Whelen M9 Super LED Scene Lights, As Specified or Equal	20	EA	\$898.00	\$17,960.00					

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
3T	Inverter, As Specified or Equal	20	EA	\$6,685.00	\$133,700.00					
3U	BASF Spray Liner on Floor and Sides of Cargo Area, As Specified or Equal	20	EA	\$955.00	\$19,100.00					
3V	BASF Spray Liner on Floor of Compartments, As Specified or Equal	20	EA	\$1,500.00	\$30,000.00					
3W	Hide-A-Way Bumper Crane, As Specified or Equal	20	EA	\$13,142.00	\$262,840.00					
3X	Whelen LED Liberty II Wecan X 54" Light Bar, As Specified or Equal	20	EA	\$5,473.00	\$109,460.00					
3Y	Light Color Option for Liberty II Wecan X 54" Light Bar, As Specified or Equal	20	EA	\$1.00	\$20.00					

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
3Z	Emergency Lighting LED Body Lights, As Specified or Equal	20	EA	\$310.00	\$6,200.00					
3AA	Maxon Liftgate, As Specified or Equal	20	EA	\$5,550.00	\$111,000.00					
3BB	Subfloor, As Specified or Equal	20	EA	\$1,923.00	\$38,460.00					
3CC	Transverse Compartment, As Specified or Equal	20	EA	\$6,309.00	\$126,180.00					
3DD	C-Tech Drawer Unit, As Specified or Equal	20	EA	\$2,308.00	\$46,160.00					
3EE	Air Compressor, 70 CFM, As Specified or Equal	20	EA	\$17,477.00	\$349,540.00					
3FF	Air Compressor, 150 CFM, As Specified or Equal	20	EA	\$22,171.00	\$443,420.00					

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
3GG	Go-Lights, Model 3024, As Specified or Equal	20	EA	\$1,907.00	\$38,140.00					
3HH	9' Readily Detachable Western Snow Plow System, As Specified or Equal	20	EA	\$7,821.00	\$156,420.00					
3II	Winch, As Specified or Equal	20	EA	\$6,350.00	\$127,000.00					
3JJ	Husky 815-Piece Mechanic's Tool Set, As Specified or Equal	20	EA	\$3,307.00	\$66,140.00					
3KK	Truck Steel Air/Hydraulic Service Jack, As Specified or Equal	20	EA	\$1,977.00	\$39,540.00					
3LL	1700 Peak Amp 12 Volt Jump Starter, As Specified or Equal	20	EA	\$231.00	\$4,620.00					
3MM	Booster Jump Set, As Specified or Equal	20	EA	\$485.00	\$9,700.00					

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid - MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

[ABLE FORD OF NEW JERSEY] RESPONSE DOCUMENT REPORT

Bid No. TBD

MOTOR VEHICLES: VARIOUS BODIED HEAVY DUTY TRUCKS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	No Bid	Year/Mfr./Make/Model:	Delivery, A.R.O.:	Warranty Details:	Comments:
3NN	Special Paint Colors Not on the Standard Color Chart, As Specified	20	EA	\$1,000.00	\$20,000.00					
3OO	Diagnostic Tools / Test Equipment, As Specified	3	SET	\$9,500.00	\$28,500.00					
3PP	Two-Way Radio Power and Wiring Requirements for New Vehicle, As Specified	20	EA	\$344.00	\$6,880.00					
3QQ	Installation of County Supplied Two Way Radio and Accessories, As Specified	20	EA	\$1,350.00	\$27,000.00					
3RR	Technical Support, As Specified	180	HOUR	\$175.00	\$31,500.00					
TOTAL					\$5,453,440.00					

ITEM # 4 - CURRENT MODEL YEAR, OR NEWER FORD F550 REGULAR CAB WITH PLATFORM BODY, AS SPECIFIED, OR EQUAL